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Write in pencil or pen.
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To receive full credit, you must show your work and justify your answers.

The final page is a formula sheet. You may detach it.
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1. (14 points) Evaluate the integrals.
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2. (15 points) Evaluate the integrals.
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3. (17 points) Sketch the region enclosed by the given curves and find its area.

x=’y4’ y=1/2_w, y=0.
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4. (17 points) The tank pictured is full of water. Find the work required to pump the
water out of the spout at the top. Use that water weighs 62.5 1b/ft2.

\/o&u\w\L V‘Y- slals

L e

= = ¢
L= 12-2%

2 LOLA)( = lo(lz-2x)4dx = 20((;-—)@&)(
;:i“i; slals = (62.5)( 20) (B*R)AX
owslal o (62.5)( 20V (6—x)Ax (Vb wass
ABM A e . Feels 1AL Foreq

woel  ow sla\s

£
W = & €2.5)(20) (6 ~x)xdx
0

6
= @2.3)(20)8 (Ex - x¥)Ax
0 8
= (62,5)(20) ze - 3—x> h <

o

=(e25)20) 3.¢2 - Jg(f\}

o

= 45000 (F+-20)

Awor += Mﬂ\,

= Forte o Argdeece x(@z,s*)(lo)ﬁé~x)§ ><A‘>(b

e' )2
y Gﬂl%*%
O T2 6

\ L= '2_}/
Joluwe = !DLA? = 26¢d
forte o (Gz.s)(zo)ydy =y

Adtewre = @-y

W= ():@Lr)(zo) (6 *y)y\y

= Sam_



5. (12 points) Consider the solid obtained when the region bounded by the curves
y=13, y=8 =0

is rotated about the line z = 3. Use the method of disks/washers to set up an integral
equal to the volume of the solid. Do not evaluate the integral.




Formula Sheet

d .
—sinz =cosz
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